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Grammar Exercises 22 pp.10-11

!

Step1 74 cia|

A 01 children 02 feet
03 sheep 04 men
05 wives 06 ladies
07 classes 08 photos
B 01 book 02 dish
03 goose 04 chair
C 01lan 02a 03an 04a
05a 06an 07an 08 a
09an 10an 11a 12an
D 01 milk
02 Kate, bread
03 air, water
04 lan, advice

[

D 01 Lz 27te| 2Rt Attt E JHE &St
02 Kate= 27te| Wut 27| 2 JHE H=Ct.
03 AlE2 372 20| Z0sfCt
04 lan2 19| IX2RE F 7HX| =S =Lt
coach ZX|, X|=X}

a2

A

Step2 7|2 ttxi7|

E 01an 02a 03an
04 an 05an 06 an

F 01an 02 x 03two
G 01 money, toys

02 flour, potatoes
03 homework, time

E 01

0% N Ho
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Jal
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o oX X Mr nE >
E
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F 01 22| ME2 25 &2 397t 5tut ULt
02 M 27|17t 3ol AIZFSHTt,
03 L= 0 & #el Mo|l= F3hE 20t
semester 27|
G 01aopls2==4¥ eSS e 2=
02 Rel= A7te] YItFt ZXL & JH7tH £

03 Lt= £%7} Bk T2HM Alzro] 8K 9

Step3 M=8 =51

H 01 has some work
02 apple and two oranges
03 There are four members
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02 wAEH=Y
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0 O 22pp.12-13

James® ot= 19| MY HIOIEE -E.".:.“LIEP
Aotz A0|I2E 2= & &Lch
Jamese= YIIE o Zut 4

O= 22 2712t o7t HEE HEiLct.
Aotz 220 A0|=E F&LIC

J42 308 S FHELULC

ot 228 Y o ZE Auch

JHE Al0|ZE MU ch £2 A7t Euch

N Lt Zesol Yol Ut

Lk 27t 2 & ek

LK 277t 4] gict
|HEZHER BIQIBJAE] o 22p.13
1x 20 3x

Grammar Exercises =2 pp.14-15

l

Step1 7H& o7
A 01 much 02 alotof 03 few
04 work 05 flowers 06 glass
07 cup 08 piece 09 loaves 10 flour
B 01 slice 02 bowls
03 bottles, shampoo 04 pairs, socks
05 afew 06 alittle
C 01 bars 02loaf 03rice 04 much
05 cats 06 few

C 01 == 271

02 £ 70|32 14042

03 & 1037I

04 O|0fl= HI7t Bol FL7F?
05 Jane=2 I_’%FOI = 0p2[7h AL,
06 00| F Ho| 25Foi| AC.

I Step2 712 ctxi7|

D 01 little juice 02 Many (A lot of) trees
03 a little milk

E 01 Agfq1z 02 mxt 1=z
03 = 22|g

E 01 L= A 1227t 25l
02 X1|71I A1 z=2s FAIR.
f2| k= 0 = 22/HE 0L

I Step3 M=3 ¥=5p

F 01 few stars in the sky

02 | wear a pair of jeans
03 We need five sheets of paper.

[ Review TEST =2pp.16-19 I

01@® 02® 03® 04 ® 05 six candies
06@ 07® 08the 09® 10®@ 11 ®
12 @ 13 bowls,rice 14® 15@® 16 ®
17® 18afew 19 ®@
20 two cups of coffee

01 O a woman?| =42 womenO|Lt,
@ a sheep — sheep
@ a child — children
® a city — cities
® a photo — photos

02 ) a potato2l S+ potatoesO|ct.
@ a roof — roofs
@ a wife — wives
@ a boy — boys
® a tooth — teeth

03 O a foot2| 242 feetO|Ct.,

goose ¥



04 O John2 1R]IFAL youth= FEHAL gold,
cheese= SZIME, B 0, 0| 2 XISt HAt
o

=2 25 4 £ gl= BAolch
youth &2 gold &

05 (7)) Li= 22 3717t 2R3ttt
Jane2 AlE 670 7HX| ULt
candy?| =+d2 candies0| 220X Jane
ME 67HE 7HX| ISEZ candies 0l sixE

=)
—
=elct

06 O water= SEZAIZ A 4 Ql= Ao,
dish EAl

07 O 2 = gl BA| 222 Hf
BAIE SO HHYA HHGIC
two bottles of juice (FA 24)

fLt E7IE LEt=E

10 O 2Tl breads 4 4 g= BAR 2480
22490 M 4 9l A Yol £, o ol
S 30| oniS Ut 2z 2284 a littleS 4
£ 70| ot

1N © health(ZZ)= FEA0ICk

12 O 42| h7t YSEX| U= T Yoll= ans 2Ct
O mice= mouse?| 2430|122 g& £ 4+ giCh
@ snowe SETAIZ M £ gl HAO|ZZ aS
£ = glct
@ a great idea (888! 00|C|0])
da

0
® an important day (523t &)

13 0 2 5 Sl= A £82 HolLt 8715 LE=

Yal

o] mistakes= A& = U= FAO|2
JE AE many, lots of, fewOl|Ct
2 A £ gl HAOIEZ 2o

A2 a little, a lot ofolCt. W2t HEHS

@ mo -4n Hu
—_ >. le)
.ﬂ* g8
rlr MO Mo
N0
L—O 0
§
(0]
rI

mistake &<

15 O uZ AIRIXIEH [ju]2 YEElE oo Yol as
#ACt HX7L oM HAZ|7t a, e, i, 0, UR A2| L=
HAF ofl= an2 2Lt

16 Marie= SHLIE RStk

oF S 220t

18 treesE A 2 A= MY EaYolE2 EF
=

19 22l= ofzlol| ¥ 2022t X|= IxZE HeCt,
a loaf of= ~ 1€012|, a piece of=
Ozt SRolct 280{2], 3XZ0|22 T
HAF loafE =82l loavesZ, pieceE =42
piecesZ Mo} SiCt,

g LIEtl=

Iru

20 EIXt 2{ofl | 2£0I
(F+EHRI/ 8715 UEL
| 270|122 EHAL



Chapter 02 O|2A}

vait
03 who, what, when, where
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O{C|A] AfLI?

— Lz 2AE|YE|0f, ASL[0]A A0},
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— L 7Pé>r &gt 2l41= Lunaof.
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d= S7E AlEst?
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— = REMOF,
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o™ HAZ} EfIE2|X0f 7HtR?
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Grammar Exercises

THt
HO

2 pp.24-25

[

Step1 7i& ozl

A 01 What 02 Where 03 What
04 Who 05 When 06 Who

B 01 does 02is 03 knows
04 What 05 Whom 06 Where

C01©@ 02® 03® 04® 050©

A 01 149 ok 0|52 Fi0|L?
02 42| ofmLl= ofcfofl AAL?
03 119 =2 Fo|L?

04 7t HAZ Stwof 747
05 11 M2 x| AlEfSHL?
06 X Ofol= +=+H?

sale THOH, Ml

B 01 42| ofHX|e| A2 FNO|L?

02 2| M= AXLI?
03 %7t Jue| FAE 1 QUL?
04 |7t 7+ EOfotz afie FN0IL?
05 He +7& A=6H?
06 O] HAE= OC|E 7HtR7
address &4  favorite 7t% Z0ftsh=
trust AlZlstct

C 01 Z2|A0tAE AX|L?

— @ 12& 250|0F,
02 X7| Y= AES F7L7?
— (o = W =70t

03 W ZE= ofcfof QULI?
— @ Ul ol Aoq.



04 U R AZXES

Ol

Of5H?

: vait
— @ L= HIUAEZ ZO0fH, - 04 why, how
05 X S22 290/L)? -
— © a%2 S1eHok LGOI SHAL [ =2 pp.26-27

bedroom &4 nephew =7t
dolphin =1reh

— X|Ek= A% 110Z=0|El= 2FUCL

[ | 7R ot 7t Ete?
Step2 7I= £l - — 72 77} sojEUC,
D 01 What day 7420l YopLt QY AMLIR?
02 Where is - — 2% 720l= 15047 ALICH
03 When does - ERmel=ol Pl ot ElLte?
E 01 Who(m) do - — EzagTals 18059 Sl ZEiLIC
02 Where is - TRIE o BRIM sU?
03 What time does - — IR0l 1 Agsh| mhELc,
...................................................................................... I ——
D 01 252 22 2o|L? _ 1L nje opmy| m=olof
— ROIOL L= of JHSS FOtsH?
02 Ho| Zotx|= ofcfoi| RALI? — 7= 97| W2olof,
— 42 AL ofafol] U0, % OIS of oA Alo}?
03 Ljo| =2 oixf| &S Xt2f 7HI? — O QRN BESIHE,
— 114 23 10Al0f Xk 7t : RE ofmL?
daughter & go to bed At2{ 7Ict — OfF Z0f,
‘ L= ofA| stmof 7t|?
— HAR
{ - L B ue = aope

Step3 Mad =51
— L= 13400k

F 01 Where do they play basketball? ShAlo] GEMS 77} it ELte?
02 What is that box — O= 7|7} 175MIE|D|E{GS.
03 When does Jim finish work? § He Hoit X 2LES 1L?

— 20[E{0l|2.

SHEVX| Lot HIHR?

— 07| 102 ZEUch

gilof 712 FAZE Eoft £[LR?
— 39| RAl= 3Z=aHUYULICL
He ot B2 S 71X UL?
— L= 50 E=o| S K| Q0]
U3 7152 Lot B2 EE HLU?
— 2= Y F Fol2[Q] WS Moy
Of Hi2 HO[RI7IR?

—2,000=Hct,



weigh ~2| 27} Lizict 03 He off AlES Z015H?
: — @© 7SS ZEsiLL
04 O 22 x(a} ofwy?
— @ 17 i< oiltl 20,
05 I xS Hopt Hal u?
— @ oM 102 Z&.
rope 2& on foot Z0A

[HIZHEZ BIQUEAE] o 22p.27
170 20 3X 40 5Xx 60

Grammar Exercises

: Step1 7Ha ot :
l l

A 01 Why 02 How 03 How 04 often Step2 7|2 ctxi7|

TH
A

= pp.28-29 bakery #& sweet &3¢t

050ld 06 tall 07time 08 cows D 01 Whyis 02How far 03 How are
B 01 many 02 much 03 much ' E 01 How long 02 are you

04 many 03 many animals

C01© 02® 03® 04® 05@ .......................................................................................................
....................................................................................................... D 01 49| OfHX|[= oH HfEHA{?

A 01 H= < RebeccaS Z0I5HL7? — QfLfsHH 20| LOAHE,
— 17} o4 21ESE| oi2olof, 02 HA FEES 07| Lot B71R7
02 M7t off? — 071 5Z20/E Hal2.
— SR, 03 X Z23l 77/= ofy?
03 1 o712 of=A| o — 2N F aKlo],
— O= 0|R2Z AFHAE Ef2 of bus stop HA HFE  delicious XUs

04 A2 Lot X FEE Ha 7iR?
— ot 2ofl 3t Ho|L,

05 2| L= M7 Hott EAIL]?
— 70&0[A, — L= %o-h ook,

06 U= 7|7t Sopt =|u? 03 S=¥0ll Hopt 22 S==0| AL?
— Lk= 7|7+ 150ME[D|E{OF, — 710/ 1000t2]7} 201,

07 ot 22 AlZto] Za|Lf? 200 E29
— 2A|Zto| A=,

08 ot} U2 HATt ST ULI?

— 300t2] H=7t 01, { Step3 Mad M=l l

sunny &gt field S
F 01 Why are you happy?

B 01 Aol Hopt 2 sH U
02 L= 2npt 2o =o| =esi|? 02 How much is this pencil case?
03 L= 5120 0L} B S92 gpAIL? 03 How does Kate go to the park?
04 ofgtoll Lokt B2 17|71 JAL?

fishbowl! 01&
C 01 I X2l FAl= Hott U
— © O FAl= 1ZE2a-ULCY,
02 0| Bt&2 oLt 7|L?
— (@ J7& 30|EoF,



[ Review TEST =2 pp.30-33 [

01® 02® 03 How often 04 ® 05 @
06 Where 07 How tall 08 @ 09 @
10@®© 11 ® 12® 13 many rooms
14® 15@ 16 Where 17 What time
18 How many 19 ®

20 Why do you look so sad?

01 © whye ‘9f 2k =of oj2
2 f &g,

A2, olFL ®els =2

02 ® XIZ & AlL?
@ 4ol o] 0|§2 HLI?
@ dl YL2 AHLI?
@ el Hok= =ol Hu?
® ol oY FaA= HL?
®2 I1I93._* LIHXl= "R ol2ls %2
What0| ZQsix|2l @2 Mg S0E= 202
2 "UA 2k= 2lojef °|ZAt WhenO| 2SiCt.

Aot xR Bl Eoz wiE

o

03 ©) how often2
5 22 0ff 2ct

feed HO|E FrCt

04 O 252 22 o|L?
@ Tom % =7 07|12 2L?
® %*D e HiE7} LR5H?
LI B2 ZOIXIE %1 UL?
fLt Xz DOH=E X[LI?
25 QURIXIE 211 Q/oDR WhatS M=
Zi0| LgiTt OI2At what FHoll AP 2™ ‘22 0f
™ ~' 9| ojojolct,

05 - U= XIF 7I20] ofumf?
c o AEEE2 E HOL?
‘of™, ofEA o o2 HEHE E7{Lt HEAL B
A2t &7 A0f ‘HotLt ~EF 2| ojn|E LIElY mi= o
ZAbhowE 2Lt
cousin AEE

06 U= oft| EAo|Y?
— L= O[Zt2[of E4I0[ok,

ooz ‘oC| 2k= %o

07 Of|®E2 Aot =L?
JONE 3240|E{0},
£0|2 Hgsin ooz ‘doft 2 =2 0l2k=

29| O|ZAt how tall2 2= 0| YLt

08 A: O] -2t Hz|EI2 Hnjelrte?
B: 12 3,000 ¥LIct,
71’ o2 ot Je8Z how muchzZ =%

S22 of & 9lrt

0

hairpin Hz[¥

09 © ot 2tz &HA, fIAIE UEUE 22At=
whereO|Lt,
O &7t F7& st?
@ He oA EFE 6HL?
® U= odl Z7E 3H—I7

® Uz LopLt X F7E sil?
10 @ d= F7L?

— @ 3= W &Eolok.

& I Ci2l= Lotk 7(L?

— (® 322 3000]E{oF.

@—@,@—@@ @7t X1

A2 izt
HZO|CH
11 O W A2 ofcjof ALI?
@ 4l Fol= fA0[L?
® F7t SoE JI2AIL?
@ He oLt X Hio|2EE H&sH?
® U= Lopt 2 dgo| ash?
QIZAL Q220 FOHZ 421 who= 32
T2 21 0[0{X|= SAts 32 Hodez ot

practice ¢&otct
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; g M0
)

14 He F Alof] x?

H AQIX] AIZE IE B
£29| O|EAt when2Z HIH

rr

go to sleep STt

_E_ |_§ Ml

=2 Yes, NoZ 3HX|
EiStt,

AUSL7I?

what time=2 ‘A 2t

& 4 ok

= Foil &

SlE BAPL 21 US 2 W 201 2ZAt what2
HALRL B MO|H BE ~ O ~' o] SLo|Ct,
subject =
16 11 O{Xt= ool QU '—I77}7
— Jdld= 2 JHAlof] UELICE
I}_IE [HE.P—l.—, OIODE O-IEI E'— I:':O OITA|.
whereE 2cCt
17 XZ2 E AU
— 3AIYLICY,
ANzte2 fgstn ooz ‘'H Al 2= £9

what time2 £cCt,

oroe
=

18 otLt QEX|7E A&
— gIlel @EX|7} UL

W2 CHEsi

19 2%=0[ #1F7| W=Z0[o.

ooz 'Ynjt B ofats

M——

L7y?
ct.

4

how many Fol= A

o how manyE %Lt
U= FAe =40| 2Ct.

Because(ALISIH)Z CHEstn JAS2=Z ‘of at
£ 529| oI2AL whyZ 2& Z0| gt
O sn2= FAS Ho?
@ He of S0aE Z0fk6tL?
@ 1= ofc|M Aof?
@ N s12ts FAF Dottt 2[L?
® sZof| HotLt 22 o7t JqU?

aquarium ==z

o2A} U ozme

20

O|2ZAt+do&AHdo

does)+F0{+SAHEY ~7)Q| &M= 204



Chapter 03 SAXHAIA|

vait ° :
05 - AXHAIH] . Grammar Exercises =2 pp.38-39
= ]
Step1 7ia ozl
1 = pp.36-37

A 01sings 02 has 03 studies 04 take
05 He 06 We

B 01 Wi 7HE EIE E—TLE 20| AT

OS2 Y Y AlZtofl xHo|A&LICH
52 =i XI=5ix| et , 03 S:4400] S4p1c
DE SMES MU & HES HBLICH € 01 Shes ‘always’ busy.
stmoll= 930| 2 o UaL|ch : 02 My father ‘sometimes’ comes home
FYES Yol stw FHE SojchELict late.
0 Parker M= 43t AAlolct : 03 | ‘often’ drink coffee after meals.
James= oM AtCh 04 The train is ‘never’ late.
Hoxc s e A 01 Tiffanys g o4 m3ict
Ja e CLL:Z; :‘;ﬁ | ozwRuE7N _
JaneS o2l OFzlof OFE! ALALE Bict 03 22| 2 MY A} Fofl Fof SRE Stk
22| oink= OIYEE TPAI0IM LstAick I b bt
Lt ealoict msiof 2ick 05 1= oS e Sl =e
S =30j|A Cf 06 22l Mo 28 TVE =0t
22 100Z0IA B=Ch week F, @l
olm| QlojLi= A7} |2 FR=C} take a shower AFsiCH
classmate gz, SZ4  hill o= co ZLL:L Sl&f HpEaC,
pet shop OHZEE 7Bl boil &t 23| opx|= mjIiE Eofl SH So{RAICH
catch ®Ct  worm Hail 03 Lft Z= AAF 50| FI|E opAlck
B = A AIMSHT CHYSIC 04 1 HRH= Hrf SX| eb=rt,
22| oLz 28 6Al0fl LojLiAlct
Lh= 715 shuof| X|ZFstct, :
J= ol =i Biofl LIZEX] =L [
gentle Ci¥et, 23fet  outside HHoll Step2 7I= tixl7|
|EHRH}E BIDIEJAR] s . : D 01 brushes 02 visits' 03 walks
10 2x 3x 04 wash 05do 06is

E 01is 02plays 03 ride

D 01 Jane2 OiY O[S '%“‘Ef
02 Julias oHd J49 =R T
03 Dave= OiY O :LOI JHE ARHAIZICE
04 L= g4 At Xof| &2 M=t



05 Nick2 O X0l =HE otL?
06 Ok= 70| &olct,
brush HCt

knowledge Ok= 7, X|4|

grandparent &%, =2
power &

[

Step3 AM&d =

F 01 The Earth moves
02 am sometimes late
03 always keeps a diary

i,

06 Ty

[ Ol SHAT [--ovveeeemeememmsemenieniseiiciee 22 pp.40-41
L= 9of BEE 57

L TIXIE oLf?
— 2 38, ¢ DXIZ SOk,
4= X2 DX o1 QL?
— OfL, 2ZX| Yo, Li= xiZ
e X2 XD UL?

— OfL, AX| Yo}, 0lop7IE 2T o]
BHEZS0[OH TTBIKI?

— Ot & m|ZSHX| gLoF.

N L= SHE st ck
Js2 g &2 F1 U
I op7l= 2o HollM =1 UCk
L= 01 TVE =20
L= XIg TVE B2 Ch
B L= 7IEIS X2 UX| QiCt

10 ==t

[HEZHER BIQIEJAE| oo =22 p.41

1 SIXiTIEE 2 beginning 3 be&At
Grammar Exercises =2 pp.42-43

[ !

Step1 7i& &l
A 01 getting 02 helping 03 going
04 skating 05 running 06 lying
07 buying 08 closing 09 swimming
10 sitting
B 01 eating 02 dying 03 is cleaning
04 is snowing 05 isn’t 06 Are
C 01 3712 2=t/ 371 21 At
02 O BiCt / OFF
03 AKRIE BiCh / AR

B 01 L= DXE Hu UCt
02823

°
m
i
m
kl
30
A
52
iul

05 d= g2 JolA A7
06 Alice2t Mikez TEIE &7|1 ULI?
enjoy E7ICt
C 01 2| otz i 912 g=
22| dot= Xg F7I1E g1 U
02 L= Yot 20f OFE
L= XIZ O E st QUL

o

ct

03 Kevin2 0HY Mol AFIE it
Kevin2 X|Z ARE stz Qlct

bake =Ct

{

Step2 7I= cixl7|

D 01 She is drawing a picture.
02 They aren’t(are not) wearing sunglasses.
03 Is Jenny swimming in the pool?

E 01 are walking 02 Is, changing
03 is not drinking



M
03 Jenny: SEAM B st QYLI?
draw 12|Ct  pool SY0|, 3%

[ . |

Step3 A2d ¥=sb|
F 011s Mr. Kim reading a newspaper?,
he is
02 Jason isn’t(is not) running fast.
03 Are they playing computer games?,
they aren’t

I Review TEST 22 pp.4b-47 [

01 ® 02 @ 03 Max rides a bicycle every
weekend. 04 @ 05@ 06 @ 07 ®
8@ 09® 10@ 1N® 120

13 drinks / Does Harry drink milk every
day? 14 |s Lisa cleaning her room?

15 | don’t watch TV 16 is flying

17 isn’t(is not) drinking 18 are lying

19 is 20 Is Peter playing the violin

01 O (22 171+ X2 17HE BlLi= SAk= O X}
== ofLt O £ OF -ingE 20|22 SAt run?
-ing EE= runningOlLCt.

:

02 O @ — eating, ® — coming, @ — dying, ®
— fixing22 Mo} st

03 O every weekend7t 20 Sixfe| 22 LIEI=
SIMAIMIE MoF st F=0{7} MaxO|2& rideE
ridesZ HHIO| 275 243

-

04 @ Borae= AM20IM AfL?
@ = Y 2SS 6iL?
@ 188 15°| ot &1 Ut
@ J4= a9 #ollM Xt UL|?
® Matt2 OFElofl OFE! AAIE SHX| Sd=Lt,
Do — Does, @ Is — Does, ® helping
— are helping, ® doesn’t has — doesn’t
have& 11X0F SiCt,

05 O H=xls SH0L) WSS HTHAIKZ LIEFHCE,
Dave:= 321d T4 F0{0|22 SAt0f -sLt -esE

do the dishes TAIE HCt AHXIE SlCt

06 Sam= CH7H 7 A0l Lofitch
SEE0|D HEXRl WES2 AKANZE M0, of
7|Mz 017t 321d EH2l SamoO|EE gets7t

S

07 4ol FH1S2 ofojAa3F
ALQ] |ng‘=‘°| eating0|
pel=E) H._i*OHE beSAt7} 2iof it F047t 321Y

URPHO! A SITIAIRIZ Med|, o7 M =
7} 32 B2l ParisOIE22 js7h LT
capital city &=

09 O 3e€oll= 310| Uct,
@ 22| ofHX|= 2of|lAf LstAlct,
® J4e 71 H2|E 7HX| K| gLt
@ Cindy= QA0 &XF 7HL(?
® John2 19| 7iet =Zg &t ct,
have7l YESAt0|T, X MEHE LIEHHD e
B2 isn’t have= doesn’t haveZ 11X0f SiCt,
jog ZZatict, Hct

10 ® U= 2AIE 251 AU?
@ XISAS0| W70 HET rk
® 4= 71|0IE.* t
OMSJRE=ES



® Olo|E0| AHE A2
@2 is, LHXl= 25 Are(are) & Mof
dessert 24|, CIME  bark %Ct
loudly 2 42|12

St AU?

r
n

1 A: O|Ls L0 =M 7H?
B: 8, 112l 4= aR0M SoE SFa.
Rl P MO HAKHAIM 2E2| 2lZ20 thet 2

INY
Ho| e (Yes ZF0{+do/does.)0lC}. F

017t
sheZ 3213 E~0|22 doesE MoOF BiCt,
12 A: Yl @S2 XIF FFE st UL?
B: OfL|, JZX| L0t OS2 BHEE o U]
STz o220 et 2-o| tiEg2 (No, &
0{+beaAt+not.)OICt.
comic book ZtatxH
13 Harry= 01 SRS OMIL?
ULS AL MO HRHAIM| 2F| 222 22 A
0l DolLt DoesE 20|11 SAk= F0{7t 32U Et=
2t SAFEYES MOF SiCt,
14 Lisa= 149 &S Hasta UL?
‘~at QUL 2k olole SR SRR
(Am/Are/Is +F0{+ SAFEE-ing ~NE &Lt 01

7} 32H0|E= [sE Mo} BTt

SATHAIMIZ LIEH:

o
[—
2l AN 2o RHES <¥01

[
finl

16 Ken2 g5 d2|n ATk O= HHIERIES X1 UK

2L,

o}, ‘oig dalct = fly

At flyel -ing &Efl= flyingOlch

17 Mary= 2IZ4H0|EE 2T QUch J4s =2Hol=
£ O UX| 2ot
32 CHo| MY BHEZ (is+not+S
At E-ing)Olct, SAL drinkQ -ing ¥Ei=
drinkingOlct,
sell ZCt

18 CIXI0I0IS2 EAI2| 2lofl F=9f QUCh. 252 HIX| 2o]
20k AX| 4Lt
32 B49| AMTAH2 (are +SAHEZ-ing)

O|ct. SAtlieQl -ing Y¥Eli= lyingOlCt.
mat OHE, X=X}2|

19 © ‘~akm QIct 2t sxzIREol ojojolm 3918 &
4 Z0{0fl Wizt S0l baking0l Y222 is7t g

20 O ST 2AZE2 (Am/Are/ls +F0{+SAt



Chapter 04 DHHAIA|

vait

07 214

< /*’/

1 SN =2 pp.50-51

Li 0|2 RickyOItt L= gt=7| o|=Qlo|ch

ol Lh= M20lM AUCH

a2l L= XIg 2ANEZ| A0 A AfCE

ME0IM L= XIsHEE Bt stwof Zict

EAMNHANN L= HAE EtD Stmoj| 7t

ME0IM Li= oM S=01E AFZRICH

EAMNHEANN L= Stwold Foi2t AHRINE At

3l

ME0IM 22| 7EE2 ol

EAMH AN 22| 7HE2 slitHol| ZiCt,

0 =2 d7t 20t
O{Ml= HI7t RiCt,
L= 9ot Sof BILAE RO
L= X|t=0l HUAS

rainy H|7} 2=

Aol 1140IUCh

=
3 AES2 1AIZE N0l 2SE0| UAAUCE.
ek 2ol Bt XIZEIF URALCH,
A 2ol H of2 KpEIH UUCH
playground 2%
[HFRHIR SFOIEJAE] oo 22p.51

1 AANN 2 was 3 -d

Grammar Exercises = pp.52-53

Th
Fo

Step1 74 cia|

A 01 played 02 stopped 03 was
04 went 05 took 06 lived
07 wrote 08 studied 09 cut
10 worked

B 01 danced 02read 03 spoke

04 came 05ran 06 were
07 cried 08 taught 09 swam
10 opened 11 sat 12 closed

C 01slept 02was 03 were 04 stayed
05 lost 06 was

C 01 2| 2tt= ALl ALoflAf RtCH
02 Andy= =fuof X|Z3ict
S2l= OfA| i et
04 Sophie= Xt 2ol EoilM HEFICE
05 Jack2 E £ ol 12| 7S AUo{HFICH
06 X|HE0= 01 HREC
couch 7! 20 stay HF2Ct
backpack ti'd, 7t

I Step2 712 ctxl7|

D 01 bought 02 were 03 went
04 became 05 ate 06 made

E 01 washed 02 died 03 visited
04 rode 05 were 06 met

D 01 Li= oM S & MCh
=

02 Samzt Mary= 7+& £Igt 2I71S0|RUCE
03 22| 7152 JHe=E AZS ULt
04 J. K. 282 F3et 277t =Tk

o
12
39 -
o

05 Ui 3ol 47 B2 =23

06 ot= orEloll M=#
bakery % go on a picnic &3 7ict

park S#

E 01 22| oftiXl= of3lof| MIXIE SHAICE,

02 AEIE HAE= 20114 102 =ICE

03 Judy= A0 TH9| A= s BEESICE

04 Peter= OfX| XIEHAE RiCH

05 22z X720 olE2(otoll UANUCE,

06 Lt= X[l Y20l MasakiE BHALCL
wash STt

E
ol
il
rulru
2
In
3
fu]

Rt

ol

b

II
o]

HA‘I 1 3



[

Step3 M@ B=35b|

F 01 Jamie looked very tired
02 There were birds
03 had lunch with a friend

vait
08 =rinmiel gryzatolze

F 2
,;"@'

[0 S R =22 pp.54-55
oHa Lucy. EQY MO|U= AlZtE ERILI?
— 3, 2. L= E 2ME0 2401,
Ul 2REE 70?7
— OfL|, IEX| Q0L O|=Z Z0| 40,
U7t £0tsk= 7t S LY
— &, a7t 330! L= oFF
7t W7t E0tets 2iE EXILI?
— &, JM0l 3= W7t £otete 2E E =
04,
0 L= &Eol A2l iU
L2 | 7HSER| LUCE
L= H| 2= ES Z0I5HK| ZULL
Jd= W 0I§S YX| =3Mch

— 38, tU= JE”01 / O, Li= 32X §U01.

LiSl= i HpeL?

— &, Rel= a0l / O,

L= mE7E EAHRLI?

— &, Lz 3304, / Ok, Lh= T=X| &0,

Jl= way=s sHL?

— 3, Q4= T30l / ot s aFX| U0,
do the laundry ‘#zisiCt

fel= X E/U0.

olo

0

[HEZHER EIQIEAE] oo =22 p.55
10 2x 30

[

Grammar Exercises 22 pp.56-57

[

Step1 7i& ozl

A 01 was 02 Did 03 move 04 didn’t
05 Were 06 Did

B 01 weren’t 02 didn’t 03 didn’t
04 wasn’t

C 01 it was, it wasn’t
02 he did, he didn’t
03 they were, they weren’t

A 01 Peter= 37t LEX| S2UCE
02 Uz ol srmotzlof Zi?
03 2= BEAHOZE O|AfSIR| LRUCH
04 L iSMnt Li= OFEol| RRE ORAX] 2LUCH
05 Uz Zofl AAL?
06 42| oMLz twolA FHE 7I=2X|ANL?
angry a7t
B 01 252 187 20| £X| ¥Uct
02 Sam2 gt OiC|&= SFX| LUCE
03 Li= SSHEUIM Z72[E o nR2|= = Rt
04 O3l M7} EIX| QLRUTH
lucky 20| £2
C 01 SA7t EXE 2ol UULI?
— &, 3301, / OfL|, TZHX| LU0
02 Ofdl 4l Fo| ¥ES ZLI?
— &, 301, / OfL|, TZHX| LU0
03 Kevinzt Jim2 wAof| AUKUL?
— &, 301, / OfL|, TZHX| LU0
break 7HCH 2Lt

word &

Step2 7I= cixl7|
D 01 Didyougo 02Did 03 was

E 01 Andy didn’t have dinner / Did Andy
have dinner
02 Mr. Keating was not(wasn’t) a good
teacher. / Was Mr. Keating a good
teacher?
03 The eggs were not(weren’t) fresh. /
Were the eggs fresh?



D 01 Y= X|tAS0 sHtHof| Z24L?
02 49 o{HLZAIM T Alzt TO|E StENLI?
03 2 7teLR?
— 4|, &L
beach slitH, HIS7t
E 01 Andy= EOIM HES HX| LRUTE
Andy= ZolA XE=2

S HALI?
02 Keating M= Z2 44HO0| OFLIULCE,
Keating M= £2 MEHOIML?

03 1 2zse
=O

{ , |

Step3 M3 =P
F 01 Did you sleep well

02 Andrew was not(wasn’t) sick.
03 He didn’t buy a new cap.

[ Review TEST =2 pp.58-61 [

01® 02® 03® 04B 05@ 06 ®
07 ® 08 dropped 09 @ 10 ®, ®
1M® 12®@ 13® 14® 15| read
16® 17@® 180

19 Did Matt lose his cat a few days ago?
20 Jim did not (didn’t) eat a lot of pizza.

01 © ® — had, ® — took, @ — cried, ® —
enjoyed= Mof Sk

02 O (XAIS+y)E BlLi= SAts yE i2 B -edE
20|22 -edE 20|22 SAt carryel HAER2
carriedOlCt,

03 © put® A2 putolCt.

04 © 1= ZFofl 7|7t =QLCk
@ Lk XI=0l o< OFtCt.

(® = uj x|zteict
@ JZ2 0|2 Tof| MEE 2ol URACH
® 22|z Ofd| Hi#X| IRUACt
IAE LiEtE Tt &7 AReoz HE I7HA|
M 2ol We= 50|22 wereE, LIHX|l= =
0{7} =022 wasE MO it
short ®2, 77t 22 shelf 4t

UEAF speak 2 HHHE spokeOltt,

06 X|H=0l, R2l= stetolol URALE,
=017+ 1218 542! we(?EI) | 2tAHE LIEHY
= Q! Last Spring0| Aoz pesAte| 1t
g wereZt YSCt,

07 U= OfF| YRl 247
U Afo] B o222 BHS T Fofol 913

1b =01 &&810] DidE £t

08 O (22 1+XA2 17HE ElLk= SAk= OFEX[2 Xt
22 oiLt O 2 [Z -edE 20|22 SAt drop?
82 droppedOlCt.

floor I, 02

[I

=

09 @ 22| 2{Alot &410] ofLCt,
@ Brown 2212 7{0|E Z0}stX| k=Ll
@ L= 22| Hote X LUt
@ 1 of0|E2 T JEA AIILE*II AUCE
® L U2 ofx|7t ot
were not2| S
noisy A2l EH%W.@

10 @ Bill2 HEAZ} ZRALCt,
@ L= HollA 71=E A
® 1= @2 228 ot
@ Sarah= Ox| 7Alofl OFEIE UL
® Jessicat Krystal w20 UAC
@ write?| HH2 wroteOlH, ® Jessica
and Krystal2 £40|2& was7t Ot were7t &
0f0F Bict.

lawyer HEAl  question &



1N O J2= 29| sHZE ZUX| LUt
@ JE2 22 HRIEAGIK| §Uct
@ He Mi3iL?
@ 3 X= AHo|Z= HUAL?
® Lk W M2 7R ALUCH
O wasn’t — didn’t, ® washed — wash,
@ Were — Was, ® brings — bring22 11X
OF &ttt

paint HRIEZESIE  bring 7PM2Ct

12 Jack2 19| g2 FHAZCEL
cleanedzt=s A SAPE egz @, @), @
GOXMY HE UEHHE Lot & £ 4 Ut @
‘{2 0|2t o= D|EiE LIEHZE

aict.

13 J4d= of| (3HCh.
yesterday(O{A)7t U282 AN E2HS M
it

CEONCECORCRE
:||-|9'|

14 O beaAte] o 2EE2 (was/were +not ~)
oF Mzf F0{7} 321F tQl EdwardO|2E
was not0| YHCH was not2 EYUS wasn’t
O|ct.

15 O YEHSA read[ri:d] 2l 22 read[red]olCt.
magazine TX|

-
o
>
ini
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k=)

ol

C fon
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IS A0] U FH2S YotERiE,
S0l 37t o 0192 Mskn o

-}
o2 2H9| theQl Yes, | was. 7t ULt

[ve)
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I
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2
=
O

NoZ Alzlet=dl, didE 0l8st Heith 2Xo=
oEe M= didn'tE 2Lt
spend MCh AH|SHTH

18 4= 0| Tof et
beSAtel 1t

N

ol

PRI S4R4C.

t

og

=

fo

BYES UE U= wasH

were Tl not2 £cCt,
free XAREE2, SVIZE

x

19 Matt2 HE ol 29| TY0IE AUOHFALI?
o

LELFALR| 1A olZEE U M= (Did +F01

=2 s W= {did not
b



Chapter 05 AlM| |22} O2jA|A|

vait *

09 AR ZAAIR

1 22 pp.b4-65
23| SO{XIS OfF| A7} BEOAIC,

=2 9F ot

52 oY o Qlxtoll gfot AAICH

Lioll7 xtAl2] 0lob7 |2 sl ZAICk

OjE 444 sfo] RES BN,

Ao, otHRIS) Ao uRiCt
a2 1955'0] 22| HojLIZ BHACE
TS PHLIS Y5t 0ISCHR Al Bt ZaS pte st

Amy0i|IAl= AN7| T0| 4027t QLY.
si= MZELE ZICh
AlZk2 =0lCt,
Jacke| LA LY Fol| SOoP7IHALH.
Jamese 33 19| ZRTH Hig WL
=2 B2 2014 H00| =M SE30C
MBHEE 1443H0| st=22 UL

noon E2, % 12A|  kitten A7 10|
create &ZslCt, BHSCtH

B Smith MME2 XIg A4S 7I2X|AICL

Smith MYE2 ZHo| 224 7IEX|INCH
|H|‘EH|’E i!'?_IE‘HQEI ........................................ 20 p.65
1T SMAR 2 TAMM 3 TAHAR 4 SHAXHAIK

Grammar Exercises 22 pp.66-67

!

Step1 7ia ozl

A 01 SXHAIM 02 ZHAAIK|
04 THHAIM 05 SRHAIA|

03 ZHAAIA|
06 HXHAIX|

B 01 freezes 02 went 03 am

C 01 bought

04 moves 05 died

02 is 03 wrote 04 lost
05 was 06 rains

01 22| 2Ll= ofdo 23 it
02 OS2 Yy f§01| STE Ut
"Oil 7HR| 2LRACt

06 %I0|2t L= st ’_‘._'—_rLOIEf.
exercise =2

2 0Z0f|lA 2,

02 $EI'— Xt e

03 L= XIZ djo=ct

04 H2 X7 F2IE S20Ict

05 H[2llAF == 1997 Holl SO07HAC
freeze ZCH(-froze)

20i| O|ZZ[0F AlFol| Z{Ch.

01 Li= OfF| A7E ot €S Mt

02 2F ME2| M= i< ok,

03 MlAmoi= ‘20|22t 2| S 4Tt

04 David= 23 Tofl Z0fsh= AIAIS 2L0{HFAC
05 Li= Juf 20| St

06 3r=0l= ot G{S0tct H|7F ®O| LI

[

Step2 7I2 cixl7|

D 01 washes 02 drove 03 arrived

04 locks 05 eats

{

Step3 M=d

=3

01 ate a piece of toast
02 plays table tennis
03 bought some roses
04 brushes her hair



05 flew a kite
06 goes to the gym

E 01 John2 Oix| EAE &t 222 HIUCH

02 John2
03 Emmas oA Ho|ZEE &
04 Emmacs

05 Ci
06 Ci

o &2 2o,
o o2 B'J
ndy|_ o e
ndy= O &MS2ofl 7t

toast EAE A2 % pbrush &£Z6iCH

NFMM

gym s

vait *

10

b -z
,;"@'

LI S
Emma:
Bobby:
Emma:
Bobby:

Jake:

Gina: CI=

Jake:
Gina:

ot

| ubZHt
10

oA |

=22 pp.68-69
°HE Bobby. U LY £IS & 0lF0[0f?
L= 95t Z 7{0k He Hul?
L= 27sSa &7 F3E 22 Z ol -olok
THOIAZACH
Gina, 47t & &0[x|?
Z01 124f0] & 7ok,
Ql AHOI J.L|'E|E St 71|_|?

OfL|, T12{X| 42 7Ok 2Lt 7t&
HE 7ok,

Z=of| 0IM°* HU?

2, O 7{o}. / ofu, 224X &S 7ok,
L= WY 202 me
OE-ll_ EI_ H*Oﬂ 1

Zo|ct.
45 = 70k

clothes £, 2=

B2 BIOIFAE| v 22p.69
2Xx 30 40 5X

Grammar Exercises

=22 pp.70-71

[

[

Step2 712 cix7|

B 01 be 02 harvest

Step1 7i& ozl

A 01 Thomas will ‘not’ write a diary

tonight.

02 They are ‘not’ going to see a movie
next weekend.

03 Alex and Susie will ‘not’ go to the
beach tomorrow.

03 have

04 isn’t 05 Will

C 01 She’llbe 02 | won't(’ll not)
D 01 1 will, | won’t

02 she is, she isn’t

01 Thomase= 2= Holl Y7IE MX| ¢2 Ao|Ct,
02 O=2 k3 FEof| 35 22 71X @2 Aol
03 Alex2t Susie= HY sliH0l| 7IX| 9= AO|Ch
01 8&oll= 0i* T2 Ao|ch
02 1 5= 7H20| A2 +8g A
03 f2l= F2|A0tA TEIE € A
04 Jld= OE DX 942 AOo|ch
05 U= Ui Foil U[S AL?
harvest 2f5ICt  rice ®  fall 72
01 Iud= LiHoll 2040| & Zolct,
02 L= W 2752 =OiSkX| 8= Zolct,
invite ZCHstCt
01 Uz a2l 2ol & HL?
— 8, 3 7oL / ofL, I X|
02 Tz xjatoll 2 HL?
— g, O™ 7o} / oY, IX| &2 oL,
see the dentist x|zl ZI2E Lt

%= 70k

E 01 willbe 02 will not(won’t) go

03 to take 04 are notlaren’t) going to
05 she order 06 Are you going

F 01 We are going to arrive

02 Will you go shopping
03 Jane will not(won’t) watch TV



E 01 Ct2 R0l me Aok,
02 Lk= =201l 74X 242 AoICh,
03 O= o ol FAIS F e Aok,
04 22| F2E2 Hus Y
05 Oz 2= ol YAE F2& AU?
06 4z o0l HEE AL?
take a rest #Ct, 481t order F=siCt
plate TAl

I Step3 M= Y=

G 01 Is Ann’s brother going to buy a new
car?, he isn’t
02 Sam will not(won’t) join the book
club.
03 Jimin is going to move to Canada
next month.

G 01 Ann<| U7} A XIE A7f?
— OfL|, Z24X| 242 7ok
02 Sam2 =M 30l2|oll 7tUsHX| 42 Zo|ch
03 X|2/0l= Ch2 2ol ZHLICHR O|AE & AOICt.
join 7tAstct

I Review TEST w2 pp.72-75 [

01® 02® 03@ 040,® 05O
06O 07® o08wil 09@ 10®@

11 He gets up at eight every morning.

12 Will you plant flowers tomorrow? /

Are you going to plant flowers tomorrow?
13 She didn’t play computer games last
night. 14 ® 15 boils, freezes 16 @

17 will be thirteen 18 it won't, rain

19 Yes, is 20 My father is not going to
be at home

01 Alex= Xt F20i| HA[GH] ATt

IAHE LEtUE H2l last weekendZ7t Ao
2 go2 1A went7t YLt LHESAIR| TpA™EZ

01| QIEo|Lt 401 BtAIgl0] 22 FENZE 2Ct
go fishing HAlst2] 7ict

02 U= Lol O s Aol 2 Hu?
next year(Lid, Ch2 &)= OJ2HE LiEti= 20|
SE Willo| Y%t
festival =l

03 L= 2= 2ol <A
Oj2iAIHIS] &

S SHX| @22 Aolct
Moo Ol=
T'__E

2= = will Fol not2
do one’s homework =XIE sttt

04 O Lt= o A4k 5HX| 94 Zo|ct
@ J4E O Fof HIY 7HEE 4 2ok,
® He W Hof ﬂ1|°|E s gAY

@ ogysto| 2

@ D2HE UEH= will Flolle SAFEE0| 222
buysE buyZ, ® OZ{AIHl SIEE2Z be going
toE Mo} SIEZ at2 to2 IAOf SiTt,

05 - M=2 B=9 +=0I0h
Of2] #2l= 190333 19110 EYs o
S4ct.
LEPHQ! AM2 SIXHAH], 2hH2| HAPEHRL AME2
TAANZ LEHHTY,

capital city ==  prize &

06 O DlHAIMIS] EHES (will not+SAHEE), (=0
+be(am, are, is) not going to +SAIEE)2Z
LIEFHCE will not2el E/EE won’tolCk,

07 24d=o= =0 (2 Ao|oh).
next week= O[2iE 2I0ISI22 DZHAIRZE £
U= H7T0| 20F BiCt was= besAte| TAO|
M (beSAH+SAIREE-ing)= 7k2 OI2E

o
3

r
m
e
>
39
_|T‘_

H Mo
rio

w Mo
o -

o MO
ok
N
k=)
Il

B ofn
0

i

CECECRCNGC)
%
tu
i
N
(@]
o



=
ol2HE l—fEf = %’8% S = willolLt be
going toE SAFY 2ol =QICt

pass 2fZsitt, Satsict

09 -Bobzt Jane2 2= & Rléga* Zojct,
- 2= Y 22| LoXIE =2 AO|C
(besAt+SAHEEE-ing)= _ﬂH Tl S SE0|
Lt Z7t7k2 O[2HE LIEPd & QI E5H (be going
to+SAHEE)2 O[2HE LIEHHCE
go out LI7ICH 2I=siCt

10 O A: of3igtofl = RtL|?
B: OfL, J2{X| 230, L2 &
@ A: 28 OFF! AME oiie?
B: Ul OFdol Al2[gnt mus & HELch

o
Op
b
X
rin

® A: 282 XIZ Tofl Uof?
B: 8, MHUS 7K1 &1 o,
@ A: 1= Penelope?| A4 miElof| Z HL(?

B: OfL|, J12{X| U0, HHHEHE,
® A: H{38l= O30f EHAIS Efm & HL?
B: OfL|, J2{X| ¢S 7o} 2= HAE & 7ok
@ WIllZ AIX5k= o2HAIM] S|220|22, Yes,
I will. £= No, | won’t.2 E3sHoF Stk
take a bus HAE EfCt

11 © =0{7t Heo| Sixie| S22 LIEHH= SRHAIX
0|22 getsZE HH0| 2Lt

12 O O[2iAKIe] 220|122 (Will + 01 + SAHEE
~?7)0IL} (BesAHAm, Are, Is)++0{+going to
+SAEE ~7)o= 20,

13 O ZHAM0|Z 2HZ0|22 didn’t play 2 £k,

14 @ L= EAXIE & Aok,

@ d= ez mXE AlZ Zojct
® 252 M T & ZAoick
@ Jd= Ao 28st2 Z Aolck
6 2= Xz 8 =30l 7t Uk
®= ~oil 7tn UCH = 2ln|2 TRHTIHH T} Wk
£ 7127l toZt &7 X1, LRz 25 0[2HA|
HME LEHE {be going to +%M°J°4>0|Ef

15 =2 100=01A 211 0=0ilM AL,
UL ARIOILY SIA2 SHAIRIZ 2Lt Fofel
Water7t 3213 E4:0/92 -(e)s& SAF ol 2of
of Bict,

16 © 1 7Pl oo 22 ou?
@ Jill2 149 dg BHL?
@ Tede S0l OFE StL?
@ Sallye= Hotet & 4Tk 2 HU?
® Daves 19| 0IRE =& 7HL|?
@ WIlIZ AEets DRIAIM Q|22 (Will+F
O +SAFE™ ~?)0lLCt,
neighbor 0|2

17 Li= I3 12200]ck, Li= Lol 13440] 2 Zolct,
next yearzt= OjzHS LIEh= 0| Yooz
(will + SAlEE)oZ 252 kit

18 220l sHE?
— OtL, Z2{X| &= 7of. L¥2 H|7t = 7ok
S 2H, 2o 7t 2 olFgo|=2 2 of
EfS oo it willel elE=0f et 22| tE=

{No, & +won’t.)0|C},
19 st =0| S7f?

HH 3l =0| = oFo|EE 2E of
=2 aliof 3iCt be going to2l 2R st 24

9| the2 (Yes, 01 + beSAL)O|Ct.

20 ©) be going to2 RHEZ2 (F0{+be(am, are,
is) not going to +SAIEE) 2 LIEHHLY,



vait :
1-' - can, will, may B 01 ableto 021 borrow 03 be
27 4 04 may not 05 will be able to
06 can’t buy
1 SN =2 pp.78-79
) ) C01@ 02® 03© 04®@ 050®
Sl M7t H2E EoE EXIR? e
MM W J2= Z0tR. 017] Qo] HEL! A 01 22| ME2 HoZ B 2 4 Ut
MME: o] £8 EHIE B 4 ALIKR? 02 1 ‘FA= AMMO| OFEX|z 2ECL,
SHl: 1|, XMz & 4 Ao, 2 34 Lt 03 CtS F0l= M7t £2 AULICH
MM go) ' 04 M7t 07t ENiR?
MM A|BS o5 ZESH HE? 05 Lk= 19| &Zof CHEe 4 Siict
shis: 2als JaigLICH true T2, Ardd!
MALL: S0l B 01 L= 2 & &
Yl XIS e =717
0 Ou sme exE 4 o 02 4l XISIHE L= 2l
= OXpll= =t Sal7l

U SpZE oimat A oloirt 03 2= 2Xoll= M7t S2IZict,

Q= 2GS KSIX| 2SiCh : 04 U= O7|M AfTlE o™ OF EICf,

HHOI| LI7EA SObE =77197 — 12 / OF &, 05 Ue LiFall o7IM A7|E & 2 Q4 Zolch

06 =92 2= AS & = 8iCh
ride EiCt  borrow ZzICt
take a picture AIZIS ®ICt  everything 2= A

B W2 2M7L #HE Aok
Jane2 2= 485t 7HX| ¢4 ZAo|ct

Sl wilE ¥ 4+ AU Zolt € 010/ 222 N8 sliR?
own XP7| X2l way Z, WAL g —@ul, 2eH= BUCh
02 2ot sollM ot =te?
— @ ot, 12 4 o}, U Stk
03 7ol & sigal?

( Y= X3 7t= &0t
HE Xig 7tMe e Eoh
M7t HAIXIE AR 27

— U, 23 SAUCH / ol o ELic —©8, 3| 0
2 Yol iyt DEXIE RECt - =S 0iRd S glar
1 1Yol w7t nEx| exlE BEC —©® =28 12 4 gL
leave 7|CH 051 —‘;?-lgloﬂ jéluslgal' > %“—-"9!-?
: —® 4, 2™ £ Aoie.

[HFEEHFR BIOIEAE]| oo 22p.79
10 2x 30

coupon F&  attend EAsiCt

[ |

Step2 712 cixl7|

Grammar Exercises 22pp.80-81 D 01 cannotlcan’t 02 may not

[ l 03 will not(won’t) 04 am not able to

Step1 7ia ozl
. E 01 Can 02 will 03 can, may
A 01can 02may 03 wil 04 May

05 could




D 01 7=0l= #2| & = glth

02 O= Of=ZX| (SX|= 2EC},
03 Eric2 £2 &x2 9X| =& Ao|ct,
04 L= 5000/HE g & Sitf.

o

turtle 74S0| grade &%

{

Step3 M2F =5

F 01 You may keep the change.
02 Penguins cannot fly.
03 He will not be able to come
04 May | help you?
change 7A&8&

vait *

]2 should / must, have to

7

[ OIS SHAT |--vvoeoereemeemmesssseeresieiiesseeeeeeeines =2 pp.82-83
S2) Zotxls 2 x| et

J= 50| R 7| Sl

2 Aol 23201 =E1SHOF SHu?
% 17EX] TVE EX| 2otof $ict,
2= Al S

k= Al Ec
He (F'JEAI) INE )

see a doctor TIES it

B X7t ol ollMOIE 2= Z0FMOF 5HLtR?
— 4|, Z2{oF §fLICt / ollR, I3 e
2= I #Alg m2tof st
4= mjEgt Zdo| S
JS2 EMEolM 0[oF7|E siiM= 2f EIch
O= 9% Aol 27t gich

essay OlA[0], &2
rule &l

S LICH

follow [Z=Ct

22 Hewsiy

( <=2l oixl=
M7t oS ¢

| & ‘
avoid HlstCt  salty B Az2 &R/et
| HI2HI2 5_!‘?_|E‘||AE| ........................................ 20 p.83
1 ~Qofl S=ieict 2 gick 3 should

Grammar Exercises == pp.84-85

[

Step1 7i& ozl

A 01 ~oll E2IIC 02 ~aliAM= oF =ict
03 ~alof St 04 ~siA= QF =ict
05 ~st= Al £2ct 06 ~& =7t gt

B 01 should| 02 be 03 Dol haveto
04 have to 05 don’t have to

C 01 doesn’t have to 02 must not
03 take 04 had to
05 should not (shouldn’t)

01 7|Algjl

02 L
03 2XIXE2 EX| Ao HEof iﬂih
04 2El= o7[0ll FXIE M=
05 He X MLk Al E3c
06 Uz MFE Ee7t giCt.
alone EXt
hurry M52Ct
01 L= £ ofiof sHx|?
02 O= 8% &1Y0| EEQIC
03 Xz Y 252 oHof stte?
04 Emmas Jasons 7|CHE ER7t gict
05 L 22 oi2 7HR6iCh Lis W 2e A4 2R
7} gict,
wait for ~& 7|ct2|ct
01 Jane& 11142 ot=0il thall A™e =eIt gict
02 He 'HE oAM= ot ECt
03 Anne2 =g AlZtoll Z7|Z aHof Sict.
04 Ofx| Lk= 0| DVDE grefsHof ZiLCt.
05 He AlZts dhlalid= oF #Ct

park FxbsiCt



worry ZEsict  law 8, ©E
take notes 7|ZsiCh Z7[siCt
return ElS2{FCf, gHeoict waste ‘dHlotch

[

Step2 712 ctxi7|

D 01 should listen
02 must wear
03 has to turn off

l - |

Step3 M3 ¥=85P|

E 01 must not take
02 must not eat
03 must be
04 must not touch

E 01 O7IM ARElE ®eE oF Fiof,
02 07| ZtAlg HeH
03 K{7|M =&3| aliof eftt.
04 07|1M O3

quiet 288t 125t  touch BFX|CH

Pal

( Review TEST =2 pp.86-89 I

01® 02® 03®@ 04® 056G 06 @
07 @ 08 He must be very sick. 09 @
10 Drivers should wear seat belts.

1M1® 6 12Can 13haveto 14 @

15 wasn’t 16 haveto 17 ®

18 will be able to 19 must not swim

20 must not smoke

01 UE o fmolol M AlMst njels
be able to= ~& %= QlCt 9
EfHE ZEAl canat HHY £ 4 Ut

02 0| u&l7|= 7 Ao 2 Ao|LCt,
be going to= ~& Z0IC} o 9|2 =
LIEt= ZSAt willzh BHY & 2 Qlch

flight BI&7],

g

11
o

e

03 H= 22| Sotzlofl Soiet= St
~alie ECF = o3, 81719 can2 #2 X2

MOz ZSAt mayt B £+ UCk

04 © He He E4aH0F St
@ M7t 0|0l MBS sHoF SHtR?
® 4= 2040| E2 Zo| Saigict
@ e SAls| Lslo} siot,
® Nick2 10AI7EX] Eof| 2fof Bt}
39 muste ‘~2lof| St = A
Efths YHH LIHX| must(Must) = 2%
LIEHAHCE

obey S35ICt &It

W

=
=

= o
I

lo
1]

9|

05 ) should= 92Lt E0E UEHHE —l—oAl'OIEI'
‘~eiME of Eict & BE20/22 should notS
= A0| gt}

06 O ~YX|= ZECH = ooje FFE LiEH= &5
At= mayoOlch

07 © ~& ZoIct 2k= 0j2He| oIFge LiEi= ZSAL
= willO|ct,

el

08 A: Willie= 2= ZAA3O01.

[—
~eloll SZSICY 2t Lt

SA mustE £cCt,
absent ZAIGH

09 - Ul HSH2 0] M2 ¢S + UCH
« = 710f stL?
< U= oHl SHIE & AU
be able to: ~& & UCt / have to: ~3lof
Ct / be going to: ~& Zo|ct

o

Ml

10 © should= “~afo} SiCk 2t= 29| o|RUt STE
LIEILl= ZSAIOICE SHEY 42, (ZSAHSAHE
ol &Ml oIt}
seat belt QHHE

= aie 23



11 @ He = Al Sk

@ |__|-i X-IDI'E KI-Q ZS Xl.OI; @-EI—

@ HA =2 FAASLII?

@ 282 £Y AlZH| 2ZXIE AH oF =t

® Hes 2402 of0|AT-E HO{= &Lt

O should to — should, ® had — have,
@ don’t must — must not2=Z X0} St
take a break ZAl #ICt, FAIS FsiCt

dessert CIXME, 4]

attention &=, <

12 0| #2 oIEHIR. HES &
Yol 0fFH HES 20
o8z Jts - 5i2E LIEt

13 L= SAfofl =Lt Li= EHAIS EfOF Bitt.
S|Af <O1M EHAIE ElOF SiCHE S50/22 o|F
LEfLH= have to7t &L

]

14 A: U7t SAE AISsiE 2717
B: E20[XI.
Sure.= E20|X| 2= 329| 2n|2 &4 &
sojct @WE HMQIFt LMKz 25 49| HEH0|X|ot
= ‘O|QtekX|g ot =l 2k= Aol ®Ho|Ct,

bathroom &4, 24

15 Rick2 1 8t 2xE & &+ 8iict

0|2 AU = be
able to&t HHY £ ol, ol besAl= AlXI2t
019 Qo A Mof St canel tAHOIRE B
&2l couldn’t7t A1 F0{7 32F H0|2E
bedsAlZ= wasn’t7t 2{0F St

o
n
Fl'l:
lo

cano0| ~& £
AN

16 U= 2= 1 U= EUof st

must7t ‘~3lioF St

have toZ HHY & = QUL
task &, ot

rr
lo

=

17 @ A: Lt F22 X2 710} 3
B: 201, L
@ A: U= 72 258 4 QU7
B: OML, L= 12/81 of &f
® At F7H 2l ofES Bl 2nie?
B: S2eILICE 07| Uttt

@ A: XM= X|ztol| oh 7tok Lz

B: OlL2. OF Ee gisUch
® A: 0{7|A OtRAT HOjAl= ¢t FLICE

B: ZI&sR, O3 SIELUICH

@ g2 2HE £ =X 582 2= 20| of
L, U= 22 ot Eck’ = 2X[9| U= st A
2 O{Allsict

passport &

18 Jenny= U0l 021 X|FS ole o~ US Ao|ch
ESAt 2712 GISEOR &£ £ glen
2 will be able to2 IIX{0} SiCt,
widely Ez2l, ZHe[oH|

A
e
o

22 will can

S S| Hat= J-0EZ Zot XIS LEH
A

20 O{7|M EHHE mH 2 Ert
2 LE= 220|222 Zst FXIE LIEHH

= must not2 MA 2&S 2SIt
smoke HHiE m|RCt



